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General Instructions :

i)
ii)
iii)

iv)

V)

The question-cum-answer booklet contains two Parts, Part — A & Part — B.

Part — A consists of 40 questions and Part — B consists of 23 questions.

Space has been provided in the question-cum-answer booklet itself to answer
the questions.

Follow the instructions given in Part — A and write the correct answer in full in
the space provided below each question.

For Part — B enough space for each question is provided. You have to answer
the questions in the space provided.

PART - A

Four alternatives are given for each of the following questions / incomplete

statements. Only one of them is correct or most appropriate. Choose the most correct

or appropriate alternative and write it in the space provided below each question.

40 x 1 =40
What was the nickname of Andy ?
(A) Andy Rooney (B) ~ Andy Handy
(C) Handy Andy (D) Andy.
Ans. :
The postmaster refused to give Andy his master's letter because Andy
(A) behaved rudely (B) didn't answer his question
(C) refused to pay eleven pence (D) had not brought money.
Ans. :
Who was Aryabhatta ?
(A) A physicist (B) An astronaut
(C) An astronomer (D) A chemist.
Ans. :
Dr. Vikram Sarabhai's dream was to
(A)  establish Sarabhai Chemicals (B) launch a satellite
(C) set up ISRO (D) start a school called Retreat.
Ans. :

Sri Ramakrishna wanted Swami Vivekananda to go to America to

(A)
(&)

Ans. :

meet the President (B) spread Hinduism
attend the Parliament of Religions (D) attend the International Conference.
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There was thunderous applause from the vast audience at Chicago because
(A) Swamiji felt nervous

B
(C
(D) Swamiji’s speech was very long.

) Swamiji's speech was very nice
)

Swamiji began his speech saying ‘Sisters and Brothers of America’.

Ans. :

The Oval is in

(A)  Australia (B) India
(C) England (D) South Africa.
Ans. :

Chandrashekhar calls Dravid the finest batsman because
(A) he can play spinners confidently

(B
(C
(D) he is technically sound and reliable.

) he is a very good batsman

) he scores more runs in a short time
Ans. :

What is the full form of ISRO ?

(A) International Space Research Organisation

(B) Indian Space Research Organisation
(C) Indian Scientific Research Organisation

(D) International Scientific Research Organisation.

Ans. :

Colombia spacecraft caught fire when

(A) it was re-entering the earth (B) it was revolving round the earth
(C) it was entering the space (D) it was leaving the earth.
Ans. :

The word 'that' in the line ‘Civilization is the reverse of that’ is

(A)  early civilization (B) society
(C) barbarism (D) a group of people.
Ans. :

The people of Europe put on more clothes than the people of Asia because

(A) they have more clothes
(B) the climate is very cold
(C) they think that they are more civilized

(D) they are very rich.

Ans. :
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13.

14.

15.

16.

17.

18.

19.

4

According to author the best sign of civilization is to

(A)  work together (B) work for others
(C) work selflessly (D) work for common good.
Ans. :

Laxmi Swaminathan was the Commander of

(A) Rani Chennamma Regiment (B) Rani Jhansi Regiment
(C) Indian National Army (D) Indian Army.
Ans. :

A British officer cancelled the registration of Kashibai's Rolls Royce car because
(A) she refused to give them her car

(B) she did not care of their request

(C) she had not followed the road rules

(D) she abused the officer.

Ans. :

The poet had tied the bird with a

(A) rope (B) wire
(C) thread (D) piece of cloth.
Ans. :

The poet compares his mother's physical appearance to

(A) flowers (B) Dblack fertile earth
(C) green leaves (D) ripening fruits.
Ans. :

Poet's mother fought like a hurt bitch because
(A) she was very rude

(B) she wanted-to safeguard her house

(C) her husband and children were lazy

(D) she had many problems.

Ans. :

In the poem 'Work is Worship' the poet wants us to follow
(A) Bhakti marga (B) Karma marga
(C)  Yukti marga (D) Mukti marga.

Ans. :
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We should trust God for His

(A) grace (B) gifts
(C) boons (D) blessings.
Ans. :

In Tartary the Lord’s bed would be made of

(A)  gold (B) silver
(C) ivory (D) wood.
Ans. :

The Lord of Tartary would be summoned to meal by

(A) peacocks (B) trumpeters
(@) harp and mandoline (D) flute.
Ans. :

The poem 'Once Upon a Time' tells us about

(A)  the reality of ancient time (B) > .the honesty of modern life
(C) the emptiness of modern life (D). the reality of modern life.
Ans. :

The message of the poem ‘The Miser. and Gold’ is

(A) earn and spend (B) don't keep treasure in the hole
(C) don't weep for lost treasure (D) beware of robbers.
Ans. :

When Bhima noticed the other stronger than him, he began to

(A) respect him (B) humiliate him
(@) condemn him (D) curse him.
Ans. :

The reason that the monkey gives Bhima for lying there is
(A) Tam sleepy’

(B) ‘1 am waiting for Bhima’

(C) ‘I want to advise Bhima not to go further’

(D) Tam old and I have no strength to stand up.’

Ans. :
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27.

28.

29.

30.

31.

32.

33.

6
Gandhiji would have attended the gymnastics class in time if
(A)  he had a watch (B) he had known the time of the class
(C)  his father had not asked him to go (D) he was not ill.

Ans. :

Who was sympathetic towards Duchess ?

(A) Nino (B) Margherita
(@) Her friends (D) Albertino.
Ans. :

Duchess went on strike because
(
(B
(C

(D) her parents did not want her to go for school.

>

) her mother scolded her
) her father shifted her house to a village
) her father changed her school

Ans. :

There are seventy students in my class.

The part of speech of the italicized word is

(A)  noun (B) verb
(C) preposition (D) adjective.
Ans. :

My teacher teaches English well.

The word teaches is

(A) verb (B) conjunction
(C) adverb (D) adjective.
Ans. :

What a beautiful flower the rose is

The correct punctuation mark to be used at the end of the sentence is

(A)  full stop (B) semicolon
(C)  question mark (D) exclamatory mark.
Ans. :

The word that does not rhyme with 'cut' is
(A) nut (B) put
(C) hut (D) but.

Ans. :
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When Radha ............... going to Mysore, she saw an accident.

The correct auxiliary verb to be filled in the blank is

(A) is (B) were
(C) was (D) are.
Ans. :

Judge not the Lord by feeble sense.

The word ‘feeble’ means

(A) weak (B) strong
(@) narrow (D) small.
Ans. :

Put off thy holy mantle.

The word ‘mantle’ means

>

)  a small round ball of wood or glass
(B) garment
(C) aloose piece of clothe without sleeves

(D) royal dress.

Ans. :

The opposite word of ‘demolish’ is

(A) build (B) prepare
(C) set (D) organise.
Ans. :

The opposite word of 'love’ is

(A) respect (B) hate
(C) oppose (D) reject.
Ans. :

We can form the.opposite of the word 'regard' by using the prefix

(A) in (B) un
(C) mis (D) dis.
Ans. :

As sweet and dry was the tobacco dust.

The figure of speech in the above sentence is

(A) simile (B) personification
(C) synecdoche (D) metaphor.
Ans. :
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PART - B

41. Quote from memory : 2
Sweet little ..o
.................................................................. why ?
You Lved ...ooniiniiii i
.............................................................. with me

OR

HEer arms ...oooiiiiiii it e
............................................................................ can say
Barefooted .......cccoiiiiiiiiiii e e
......................................................................... Cophetua.
Answer the following questions in two orthree sentences each : 8x2=16

42. What is Sarabhai Chemicals ? What does it produce ?

43. What qualities did Narendranath inherit from his mother ?
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44. How did Chandrashekhar achieve a great name as a bowler even with his
disadvantage ?

45. "I am pleased to dedicate in her memory METSAT launched by the ISRO."
a) Who is the 'T' here ?
b) What is her memory referred to in the'statement ?

46. Why did the king send boiled eggs to Daksha ?

47. Why was the poet sad at the death of the dove ?
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48. What does the poet advise the devotee to do ?

49. What did Bhima say about himself to the monkey ?

Answer the following questions in a paragraph each : 3x4=12

50. Describe Andy's second visit to the post office.
OR

Summarize Swami Vivekananda's speech in the Parliament of Religions at Chicago.

51. What is interesting about the wedding of Shakuntala Dhamankar ?
OR

How did Daksha win over the king ?
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52. How would be the evenings in Tartary ? What does the poet say about the rivers in
Tartary ?
OR

What is the message of the poem 'Once Upon a Time' ?

53. Write the other degrees of :

No other boy is as tall as Ravi in the classroom. 1+1=2
a)
b)

54. Change into indirect speech : 2

"I am going to Bombay tomorrow,".Roopa said.

55. Fill in the blanks with suitable prepositions given in the brackets. 2
[ by, at, on, in ]

Rajesh lives ............... Venkatapura ................ Koramangala.

56. Fill in the blanks with suitable conjunctions given in the brackets. 2
[ but, and, so, because ]

Krishna ................ Balaraju are friends ................. they are not equally rich.
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57. Fill in the blanks with appropriate tense forms of the verbs given in the brackets. 2
Sudha .............. ( ask ) Roopa whether she had .............. ( see ) Sunita.

58. Fill in the blanks with suitable articles given in the brackets. 2

[ a, an, the ]

There is ............. big tree in front of .............. police station.
Read the following passage carefully and answer the questions that follow :

Once there lived an old farmer. He was a hard working man. But his sons were
idle and useless. The farmer was anxious about/his sons. When he was lying in his
death bed he longed to teach his sons a good.lesson to make them industrious and
hard working. So he called them near his bed and told them that in one part of his
property, there was a hidden treasure. These were the last words of the farmer to his
sons.

Soon after the death of the farmer, the sons took spades and dug all the fields.
But no treasure was found. This made them learn a lesson, 'No gains without pain'.
This encouraged them to sow thefields with different kinds of seeds. Thereafter they
lived happily from what they got from their fields by their hard work.

59. Why did the farmer wantto.teach his sons a lesson ? 2
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60. What did his sons do to find out the treasure ? 2

61. Write a paragraph using the clues given below : 4

A silly cricket — sings all the summer — does not store food — dying of hunger in the
winter — goes to an ant — begs for food— ant refuses — remarks — dance all the

winter — moral.
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62.

Imagine that you are Kiran/Keerti of Govt..High School, Dharmasagara.

Write a letter to your father requesting him to send you Rs. 1500 for educational

excursion using the clues given ‘below : 5

Telling about your school — telling about your studies — performance in the tests —

reason for the demand — places for the excursion — telling about the programmes.
OR

Write a letter to the postmaster of your town, explaining that letters are not being

properly delivered using the clues given below :

Area of living — complaining about bad delivery of letters — requesting to set right

the problems — telling about other details.
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63.

Write a paragraph or two on any one of the following topics :
i) Newspapers

ii) Uses of forests

i) Small family is a happy family.
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